202 tn i a1
43| A 7| 2 7 A2 04| ALA
|o:||:
=1 T1]
=
= ||=|-9-|7:| iI'
: _='|<_ |.7=|7c
o -I
o
|'|:|0:“|_|' '|

1=
Jx
gl
tol
=
Jo
EJ



L AZAN 53
L AFANA FBE
L A AR ()

. A AR (A1)

L AR ENF

1/14

14



Rl

)3 2%t

o 4
=

A
Al

ZETET

1. 20243 HH & St D[S (LK

StCt.

Aoz

5,692,491&

JF
=

s

E

RPN

AL
e

0l

stuoly

S

4 = o CH

A
Ay

S| HHAL oA

M1 2024

OFr
E
41D
ol

e

10

9

oF

nigmi

H

Al

b

3
=

Off 2+t HE M360 et

ol

w oA OH

UH

Ol
RO
Ko

30
OH

ok

| &Iz, O

9

I
=

ok

o HE Xt

b

S
=

gs= Zah i

s

ok

o

10

O

i

SHA
=1

| Z(SHLHHIO12421) 0l T

BHA YA
mmEo .

Ju

0l
ol

o
Kk

Ki

X3

NP,

StCt.

t

=)

|.

= D
= o

A0l HA-HD[0 B == 22l AKXl

M4z O

0%
<

oll

il
iof
<0
i

ol
o3

L= =0l

=

ol
</

3

M52 O

ol ECH

FXI OtLI et Atet2 St uJ| Sl H X el 73

ol Eo

= X
=l

JIEF

JA[[CES

2/14



2 St | (MM EUAF)S[A 2x} FIMEH X5 LM SHE
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= To o, o, = TOo o, o,
of| AF2H (A) (%) of £tH (B) (%) (A-B) of ALl (A) (%) ofl AbQH (B) (%) (A-B)
29 &Hsof 2|5 29 &sof 2|3t
ool 135,000 2.4 110,100 | 58.1 24,900 |55o2 2,138,850 | 38.2 101,960 53.8 | 2,036,890
L T = cCaTrTE
E Xl&t =0l o| 5t
;:E;’,O“ e 5,378,184 | 96.2 2 0.0 | 5,378,182 |ofiH|H] 1 0.0 1 0.0 -
[ == ) =}
X 2 et=ol ot FArEsol of st
saeol - - - - - |az=2 10,001 0.2 1,001 0.5 9,000
B st=ol o5t
- - - [HrEed e 3,259,998 | 58.3 - - | 3,259,998
c’|_4|:|'I'I'E
AL AeAH | 5,613,184 | 98.6 110,102 | 58.1 | 5,403,082 |AI=H R X|EEHA 5,408,850 97 102,962 54 | 5,305,888
Mol d A= 79,307 1.4 79,307 | 41.9 - |AZlold A= 183,641 3.3 86,447 45.6 97,194
AZeAo MEAH 5,592,491 100 189,409 100 | 5,403,082 |RIFXIEHLHEA 5,692,491 | 100 189,409 100 | 5,403,082
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o} = 20245 H AL | 20243 H AT = A 7hoy
2Xt =4 1% =4 CEA_E'; A =5 — A
o & = Off Ak (A) of| £+ (B)

S VNN S eI PR 5,378,183 1 5,378,182
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2 5t = olaton(a) | ofatol(p) (A=B)
A 2 2 FE A 5,408,850 102,962 5,305,888
xzolg X2 183,641 86,447 97,194 |® x}7|0|HAtZ: 18,511,000 ¢
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